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1. For X~B (n,p), which of the following is correct ?

A. E (X) = Var (X)

B. E (X) = 2Var (X)

C.E(X) > Var (X)


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_M7VaQo5WGvyE

D.E (X) < Var (X)

Answer: C

o Watch Video Solution

2. Given X~ B (n,P)

If n=10 and p=0.4, find E(X) and Var (X) .

A.04

B.24

C. 4

D. 24


https://dl.doubtnut.com/l/_M7VaQo5WGvyE
https://dl.doubtnut.com/l/_dkJuYb1DQauf

Answer: C

o Watch Video Solution

3. Given X~ B (n,P)

If n=10 and p=0.4 , find E(X) and Var (X) .

A.04

B. 24

C. 4

D.24

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_dkJuYb1DQauf
https://dl.doubtnut.com/l/_EyFqoJOhnDua

4. Given X ~ B ( n,p)If p =0 .6 E (X) =6, find n and Var (X)

A.10

B.5

C.8

D.7

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_EyFqoJOhnDua
https://dl.doubtnut.com/l/_Mze9gb7asJhH

5. Given X ~ B( n, p) if p =0.6 E(X) =6, then the value of

Var (X) is

A 24

B.24

C.6

D. 6.6

Answer: B

o Watch Video Solution

6. Given X~ B(n,p) . If n =25, E(x) =10, find p and S.D (X)


https://dl.doubtnut.com/l/_otsxLYN5Ymip
https://dl.doubtnut.com/l/_C1yd16PqEIvw

A.04

B.0.6

C.03

D. 0.7

Answer: A

o Watch Video Solution

7. Given X~ B(n,p) . If n =25, E(x) =10, find p and S.D (X)

A.2,/6
B. /6

C.2,/10


https://dl.doubtnut.com/l/_C1yd16PqEIvw
https://dl.doubtnut.com/l/_MorfcALQn9az

D.6

Answer: B

o Watch Video Solution

8. Given X~B(n,p).IfE(X)=6,and Var (X) = 4.2, find the valye

of n.

A.40

B.10

C. 20

D.15


https://dl.doubtnut.com/l/_MorfcALQn9az
https://dl.doubtnut.com/l/_iLY8z1tg6IvD

Answer: C

o Watch Video Solution

9. Given X~B(n, p) if E(X) = 6, Var (X) = 4.2, find the
value of n and p.

A.0.6

B.0.4

C.0.7

D.0.3

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_iLY8z1tg6IvD
https://dl.doubtnut.com/l/_wwJgKDz7Ywl9

10. For X~ B (n,p),if E(X) =18, Var(X) =12, then p =

>

A= | w wN W

Answer: A

o Watch Video Solution

1. For X~B (n,p),if E(X) =18, Var(X) =12, then q =


https://dl.doubtnut.com/l/_wwJgKDz7Ywl9
https://dl.doubtnut.com/l/_dihzS4Zvu0XG
https://dl.doubtnut.com/l/_26VESeq9KVtj

>

= | w W W

Answer: B

o Watch Video Solution

12. Arv. X~B (n, p). If values of mean and variance of X
are 18 and 12 respectively, then total number of

possible values of X are

A. 54


https://dl.doubtnut.com/l/_26VESeq9KVtj
https://dl.doubtnut.com/l/_956cx5FU4RUB

B.55

C.12

D. 18

Answer: B

o Watch Video Solution

13.Let X ~ B (n,P). | f E(X) =5 and Var (x) = 2.5 find n and

A5
B.10

C.50



https://dl.doubtnut.com/l/_956cx5FU4RUB
https://dl.doubtnut.com/l/_uEvzLPr0vyoc

D. 2

Answer: B

o Watch Video Solution

14. For X ~B (n,p),if E(X) =5, Var (X) = 2.5, then p =

A. 01

B.0.2

C.0.5

D.0.6

Answer: C

[ -


https://dl.doubtnut.com/l/_uEvzLPr0vyoc
https://dl.doubtnut.com/l/_hZFjuntL4Ax8

l & Watch Video Solution J

15. For X~B (n,p) and E (X) = 12, Var (X) = 4, then the

value ofnis

A3

B.48

C.18

D. 36

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_hZFjuntL4Ax8
https://dl.doubtnut.com/l/_LYUmNWbJ1nZW

16. Given that X ~ B( n=10, p) .If E (x) = 8, find the value of

A.0.6

B. 0.7

C.0.8

D.04

Answer: C

o Watch Video Solution

17.For X~B (n,p),n =10, E (X) = 5, then p =


https://dl.doubtnut.com/l/_6ySshKz6MEQy
https://dl.doubtnut.com/l/_hOH7VUoNu7NG

A. 0.01

B. 0.1

C.0.05

D. 0.5

Answer: D

o Watch Video Solution

18. For X~B (n,p), n =10, E (X) = 5, then Var (X) =

A .25
B. 25

C.0.5


https://dl.doubtnut.com/l/_hOH7VUoNu7NG
https://dl.doubtnut.com/l/_qesd76b87Bf4

D. 50

Answer: A

o Watch Video Solution

19.For X~B (n=10,p =0.2), P (X=1) =

A2 x (0.8)°

B.2 x (0.8)°

Answer: A

[ -


https://dl.doubtnut.com/l/_qesd76b87Bf4
https://dl.doubtnut.com/l/_ibrPSTKOhNri

l & View Text Solution

20.For X~-B(n=10,p=0.2),P(X > 1) =

A1 - (0.8)°
B.1— (0.8)"
c.1-(0.2)°
D.1— (0.2)"
Answer: B

o Watch Video Solution

21.For X~-B(n=10,p=0.2),P (X < 8) =


https://dl.doubtnut.com/l/_ibrPSTKOhNri
https://dl.doubtnut.com/l/_CcsWTnNul84v
https://dl.doubtnut.com/l/_3hms7KqOcI0L

A.1— (8.2)(0.2)°
B.1— (4.1)(0.2)°
C.1— (8.2)(0.2)°

D.1 — (4.1)(0.2)"

Answer: C

o Watch Video Solution

22.For X~-B(n=8,p=05),P (| X —2| <2)=

A. (163)(0.5)”
B. (163)(0.5)°

C. (81)(0.5)"


https://dl.doubtnut.com/l/_3hms7KqOcI0L
https://dl.doubtnut.com/l/_VF5iEXlbAIer

D. (163)(0.5)"

Answer: B

o View Text Solution

80
A ——
243

40
243

40
343
80
D. —

343

then


https://dl.doubtnut.com/l/_VF5iEXlbAIer
https://dl.doubtnut.com/l/_fHxwZ87a6Ltl

Answer: B

o Watch Video Solution

24. Let X~B (n, p ), if E (X) = 5, Var (X) = 2.5, then

P(X <1)is
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Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_fHxwZ87a6Ltl
https://dl.doubtnut.com/l/_XwORY3rPujD1

25. Let the pm f.of rv X be d

p(z) + (i) (g)m (%)4.@ ,X=0,1,2,34.

A 224
B.22.2
C.2.24

D.2.22

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_XwORY3rPujD1
https://dl.doubtnut.com/l/_7JUFbexpHKh0

26. Let the pm f.of rv X be d

p(z) + (i) (g)x (3)436 ,x=0,1,2,3,4.

A. 0.9876
B. 0.09876
C. 0.9786

D. 0.9786

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_BZ2UPCcSat6c

27. For X~B (n, p), if n =5 and the sum of the mean

and variance is 1.8, then p =

A.0.2

B.0.8

C.03

D.0.7

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_ddwhq5DMKE2B

28. Each of five questions on a multiple choice
examination has four choices, only one of which is
correct. A student is attempting to guess the answer. If
the random variable X is the number of questions
answered correctly, the probability that the student

will get exctly three answer correct is

Answer: A

[ o Watch Video Solution


https://dl.doubtnut.com/l/_iDYHXvka1Cev

29. Each of five questions on a multiple choice
examination has four choices, only one of which is
correct. A student is attempting to guess the answer. If
the random variable X is the number of questions
answered correctly, the probability that the student

will get at most three answers correct is

Answer: B


https://dl.doubtnut.com/l/_iDYHXvka1Cev
https://dl.doubtnut.com/l/_mLkiRTbE9qi8

o View Text Solution

30. Each of the total fice questions in amultiple choice
examination has four choices, only one of which is
correct.A student is attempting to guess the amswer .
The renadom varible X is the number of question
answerred correctly. What is the probability that the

student will giveat least one correct answer ?


https://dl.doubtnut.com/l/_mLkiRTbE9qi8
https://dl.doubtnut.com/l/_eXAuvDLtvASl

Answer: C

o Watch Video Solution

31. If X be binomial distribution with mean np and

P(z = k)
Plx=k—1)

variance npq, then find the
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Answer: B

[ o Watch Video Solution


https://dl.doubtnut.com/l/_eXAuvDLtvASl
https://dl.doubtnut.com/l/_xIhs0FMEI7Uf

32. If n toys are distributed among N boys randomly,
then the probability that a particular boy gets 7( < n)

toys is
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Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_xIhs0FMEI7Uf
https://dl.doubtnut.com/l/_FX00xBvTpwhV
https://dl.doubtnut.com/l/_07LGNddrdnrO

33. The centres for disease control have determined
that when a person is given will develop immunity to
virus is 0.8 If eight people are given this vaccine find
the probability that

(1) none will develop immunity

(2) exactly four will develop immunity .

(3) all will develop immunity,

A. 0.000128

B. 1.28E-5

C. 2.56E-5

D. 2.56E-6

Answer: D

S |


https://dl.doubtnut.com/l/_07LGNddrdnrO

l & Watch Video Solution ]

34. The centres for disease control have determined
that when a person is given a vaccine, the probability
that the person will develop immunity to a virus is 0.8.If
eight people are given this vaccine, then the
probability that exactly four will develop immunity is

A. 0.04587

B. 0.4587

C. 0.09174

D. 0.9174

Answer: A



https://dl.doubtnut.com/l/_07LGNddrdnrO
https://dl.doubtnut.com/l/_5IKVoj5t1dWK

o Watch Video Solution

35. Probability that a person will devlop immunity after
vaccination is 0.8 If 8 8 people are given the vaccine
then probability that all develop immunity is

A. (0.2)°

B. (0.8)°

c. (0.8)°(0.2)

D. (0.8)%(0.2)°

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_5IKVoj5t1dWK
https://dl.doubtnut.com/l/_uyt7Nl55no96

36. It is possible for a computer to pick up an
erroneous signal that does not show up as an error on
the screen. The error is called a silent error. A particular
terminal is defective and when while using the system’
word processor', it introduces a silent paging error
with probability 0.1. The word processor is used 20
times during a given week. The probabillity that no

silent paging error occur
A. (0.9)%
B. (0.09)*

C.20(0.9)*

D. 20(0.09)*°


https://dl.doubtnut.com/l/_eUQujgo8RgI0

Answer: A

o Watch Video Solution

37. It is possible for a computer to pick up an
erroneous signal that does not show up as an error on
the screen. The error is called a silent error. A particular
terminal is defective and when while using the system’
word processor', it introduces a silent paging error
with probability 0.1. The word processor is used 20
times during a given week. The probabillity that no

silent error occur

A1 —(0.9)"


https://dl.doubtnut.com/l/_eUQujgo8RgI0
https://dl.doubtnut.com/l/_Y34GTDNsa4ux

B.1— (0.9)%

C.1—(0.09)"
D.1 — (0.09)%
Answer: B

o View Text Solution

38.In an experiment, a fair coin is tossed three times. If
success means getting two heads, then the probability

of no success when exoeriment is repeated thrice, is


https://dl.doubtnut.com/l/_Y34GTDNsa4ux
https://dl.doubtnut.com/l/_KJRdOFUXcxTq

Answer: D

o Watch Video Solution

39. Five fair coins are tossed simultaneously. If the

probability of getting at most n heads is 0.5, then n =

Al

B.2

C.3

D.4


https://dl.doubtnut.com/l/_KJRdOFUXcxTq
https://dl.doubtnut.com/l/_kI3FG0fz4x14

Answer: B

o View Text Solution

40. Five fair coins are tossed 8 times, then the

probability that it shows heads exactly 5 times is

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_kI3FG0fz4x14
https://dl.doubtnut.com/l/_9fZW4joP3BVT

41.If a fair coin is tossed 8 times , then the probability

that it shows heads larger number of times than tails is

31
128

93
128
31
' 256

93

D. —
256

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_9fZW4joP3BVT
https://dl.doubtnut.com/l/_ke7YUesiFgD1

42.If a fair coin is tossed 8 times , then the probability

that it shows heads at least once is

255
| 256
1
| 256

85
" 256

3

D. —
256

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_TrgfSnR2lwxh

43. A fair coin is tossed 9 times . Find the probability

that it shows heads exactly 5 times .

21
" 256

63
| 256
1
512

1

D. —
256

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_cdeCLHldWGmv

44. A fair coin is tossed 9 times. The probability that it
shows heads in the first four tosses and tails in the last

five tosses is

A 21
" 256

63
' 256
1
' 512
1

D.%

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_EvPcJxoI9aWL

45. Two dice are thrown three times.The probability of

throwing doublets not more than twice is

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_a8N5CJiYn136

46. The probability that a person who undergoes a
kidney operation will recover is 0.7. If the six patients
who undergoes similar operations,then the probability
that none will recover is

A. 0.00729

B.0.729

C.7.29E-5

D. 0.000729

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_diIupQCR1JpT
https://dl.doubtnut.com/l/_jhIR6iFtvYpC

47. The probability that a person who undergoes a
kidney operation will recover is 0.7. If the six patients
who undergoes similar operations,then the probability
that all will recover is

A. (0.7)°

B. (0.7)°

C.(0.7)%(0.3)°

D. (0.7)(0.3)°

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_jhIR6iFtvYpC

48. The probability that a person who undergoes a
kidney operation will recover is 0.7. If the six patients
who undergoes similar operations,then the probability
that half of them will recover is

A. 0.01852

B. 0.1852

C.0.03704

D.0.3704

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_wK65WLb7k0w0
https://dl.doubtnut.com/l/_sDgyvKYqlpbS

49. The probability that a person who undergoes a

kidney operation will recover is 0.7. If the six patients

who undergoes similar operations,then the probability

that at least half will recover is

A.0.4648

B. 0.04648

C. 0.9296

D. 0.09296

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_sDgyvKYqlpbS

50. The probability of hitting a target in any shot is 0.2
If 10 shorts are fired , find the probability that the

target will be hit at least twice. [ Given:
(0.8)° = 0. 1342]

A. 0.3121

B. 0.6242

C. 0.4061

D. 0.8121

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_8YstoK6jPgt5
https://dl.doubtnut.com/l/_vW1D0u3SF5vo

51. The probability that a bomb will hit a target is 0.8.
The probability that out of 10 bombs dropped, exactly 2
will miss the target is

A. (0.9)(0.8)"

B. (0.9)(0.8)°

C.(1.8)(0.8)"

D. (1.8)(0.8)°

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_vW1D0u3SF5vo

52. The probability that a bomb will miss a target is 0.2.
The probability that out of 5 bombs dropped, exactly 4
will hit the target is

A. (0.8)°

B. (0.2)(0.8)°

c.(0.8)*

D. (0.2)(0.8)*

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_27js3D26tHow

53. Supose that 80 % of all families own a elevision set.

If 10 families are interviewed at random, find the

probability that seven famileis own a television set .

A.04.26

B. 0.04026

C.0.2013

D. 0.02013

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_wqzWvwhX6LBv

54.80% of all families own a television set. If 10 families
are interviewed at random, then the probability that at
most three families own a television set is

A. (8401)(0.8)"

B. (8401)(0.2)™

C. (8441)(0.8)"

D. (8441)(0.2)™

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_NXixJGasgJPY

55. A fair coin is tossed n times. if the probability that

head occurs 6 times is equal to the probability that

head occurs 8 times, then find the value of n.

A. 15

B.14

C.12

D.7

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_E4TKVrY9Hp1v

56. A machine has fourteen identical components that
function independently. It will stop workinng if three or
more components fail. If the probability that a
component fails is equal to 0., then the probability
that the machine will be working is
(298)(9
(10)
L (149)(9
0)14

—_

12

)
)

— —
o|© o|©

(208)
(298) (

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_0AV4XGEajbPY

57. A radar complex consists of eight units that operate
independently. The probability that a unit detects an
incoming missile is 0.9. Then the probability that an
incoming missile will not be detected by any unit is
A2x 108
B.10~°

c.10°8

D.2 x 106

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_j8qd8DIZULrg
https://dl.doubtnut.com/l/_hyOjaWbIxuua

58. Aradar complex consists of eight units that operate
independently. The probability that a unit detects an
incoming missile is 0.9. The probability that an
incoming missile will not be detected by at most four
units is

A. 0.005244

B. 0.050244

C. 0.0005244

D. 0.0050244

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_hyOjaWbIxuua
https://dl.doubtnut.com/l/_R9bNeaQwxbxU

59. The probability that a person picked at random will
support a constitutional amendment requiring an
annual balanced budget is 0.8. If nine individuals are
interviewed and they respond independently, then the
probability that at least two thirds of them will support
the amendment is

5 (218)(4)

(5)° 6
5 (436)(4)

(5)°

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_R9bNeaQwxbxU

60. Probability of guessing correctly atleast 7 out of 10

answers in a 'True' or 'False' test is equal to

11
A —
64

11
B. —
32

11
C. —
16

27
D. —
32

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_R9bNeaQwxbxU
https://dl.doubtnut.com/l/_xDHQ895zC7DP

61. A student is given a quiz with 10 true or false
question, and he answers by sheer guessing. If X is the
number of question answered correctly. If the student
passes the quiz by getting 7 or maximum correct
answer, then the probability that the student passes

the quiz is

A 11
- 32

11

B. —
16

c 11
" 64

5 11
128

Answer: C

[ o Watch Video Solution


https://dl.doubtnut.com/l/_BUbnUoHmBbYm

62. A student has appeared for an examination. There
are 20 question in the paper, with four multiple answer.
If he answers correctly he gets 4 marks and if the
answer is wrong he gets - 1 mark. A Student will pass in
the examination if he gets 50% of the marks.If a
student answers by sheer guessing, then the

probability that he will pass in the examination is

A.
04 3 a0 3 20 0
0124TO+ Cis—p + .o + 7 C9— + 70—
B.
20 ! 20 3 0
Cio— + “Ciz3— + ... + "Cr9g— + “Cop—


https://dl.doubtnut.com/l/_BUbnUoHmBbYm
https://dl.doubtnut.com/l/_itCfF5LpOX8u

)
|

C. (20012 + 20013 + ...+ 20019 + 20020) (

NSNS

D. (**Ci2 + *°C13 + ... +*°C1g + *°C) (

Answer: A

o Watch Video Solution

63. A die is tossed 5 times. Getting and odd number is
cosidered a success. Then, the variance of distribution

of success, is

w >
ol oo w w| oo

N


https://dl.doubtnut.com/l/_itCfF5LpOX8u
https://dl.doubtnut.com/l/_4vKWko2QWhly

Answer: D

o Watch Video Solution

64. A rat maze consists of a striaght corridor, at the
end fo which the rats take either right or left turn. If 10
rats are placed in the maze one at a time and the
random variable X denotes the number of right turns
taken by the rats, then the probability that at least 9

rats will trun the same way is


https://dl.doubtnut.com/l/_4vKWko2QWhly
https://dl.doubtnut.com/l/_QlTJrhzIcmpY

Answer: C

o Watch Video Solution

65. The probalility that a lamp in a class room will be
burn out is 0.3. Six such lamps are fitted in the class
room. It is Known that the class room is unusable if the
number of lamps burning in it is less than four, then
probability that the class room cannot be used on a

random occasion is

A. 0.9245


https://dl.doubtnut.com/l/_QlTJrhzIcmpY
https://dl.doubtnut.com/l/_H8WECkwepdJh

B. 0.9259

C. 0.09245

D. 0.09259

Answer: A

o Watch Video Solution

66. Let A be the event that a family has children of both
sexes. If each family has n children and the probability

that each child being a boy is 0.5, then


https://dl.doubtnut.com/l/_H8WECkwepdJh
https://dl.doubtnut.com/l/_Jo3jibOOYcQt

c1— (2"

D.1—(2)" "

Answer: C

O View Text Solution

67. A large chain retailer purchase certain Kind of
electronic device from a manufacture. The manufacture
indicates that the defective rate of the device is 3%.
The inspector of the retailer picks 20 items from a
shipment. The probability that there will be at least

one defective item among these 20 is

A1+ i 20
' 100


https://dl.doubtnut.com/l/_Jo3jibOOYcQt
https://dl.doubtnut.com/l/_0TemPscTopaV

20
97
B.1+3( —
i (100)
20
97
c1- (m)

20
D1 3(
100

Answer: C

o Watch Video Solution

68. A lot of 100 items contains 10 defective items. Five
items selected at random from tht lot and sent to the
retail store. The probalility that the store will receive at

most one defective item is

A. 0.91845


https://dl.doubtnut.com/l/_0TemPscTopaV
https://dl.doubtnut.com/l/_bXWQAiI9BS5e

B. 0.91854

C. 0.091845

D. 0.091854

Answer: B

o Watch Video Solution

69. From a box containing 20 tickets marked with
numbers 1 to 20, four tickets are drawn one by one.
After each draw, the ticket is replaced. The probability

that the largest value of tickets drawn is 15 is.

A 27
" 320


https://dl.doubtnut.com/l/_bXWQAiI9BS5e
https://dl.doubtnut.com/l/_MqJxZJYIxcpu

Answer: A

o Watch Video Solution

70. The probability that a certain kind of component

will survive a check test is 0.6 Find the probability that

exactly 2 of the next 4 rested componentws suvive.

A. 0.03465

B. 0.03456


https://dl.doubtnut.com/l/_MqJxZJYIxcpu
https://dl.doubtnut.com/l/_89gHw0iLmc4v

C.0.3465

D. 0.3456

Answer: D

o Watch Video Solution

71. Suppose that airplane engines oprate
independently and fail with probabitily equal to 0.4.
Assuming that a plane makes a safe flight if at least on
half of its engins run, then the probabitily for a

succesful flight of 4-engine plane is

A. 0.8400


https://dl.doubtnut.com/l/_89gHw0iLmc4v
https://dl.doubtnut.com/l/_qnuaEFeFRncW

B. 0.8408

C. 0.8200

D. 0.8208

Answer: D

o Watch Video Solution

72. Suppose that airplane engines oprate
independently and fail with probabitily equal to 0.4.
Assuming that a plane makes a safe flight if at least on
half of its engins run, then the probabitily for a

succesful flight of 4-engine plane is


https://dl.doubtnut.com/l/_qnuaEFeFRncW
https://dl.doubtnut.com/l/_tIZs6GrDSXY4

A. 0.8400

B. 0.8408

C. 0.8200

D. 0.8208

Answer: A

o Watch Video Solution

73. Suppose that airplane operate indenpendently and
fail with probabitily equal to 0.4. Assuming that a plane
makes a safe flight if at least one half of its engines

run, then


https://dl.doubtnut.com/l/_tIZs6GrDSXY4
https://dl.doubtnut.com/l/_z2XHV3fN4HST

A.P(2engine plane) It P (4 engine plne)

B. P(2 engine plane) gt P(4engine plane)

C.P(2 engine plane) = P(4engine plane)

D. P(2 engine plane) = 2P(4engine plane)

Answer: B

° View Text Solution

74. An insurance agent insures lives of 5 men, all of the

same age and in good health. The probability that a

man of this age will survive tha next 30 years is known
2 . :

to be —. The probability that in the next 30 years at

3

most three men will survive is


https://dl.doubtnut.com/l/_z2XHV3fN4HST
https://dl.doubtnut.com/l/_nklSUrREKZgM

A 131
243

80
243

32
243

163

> 243

Answer: A

o Watch Video Solution

75. If the probability that a fulurorescent light has a
useful life of a least 800 hours is 09 find the
probability that among 20 such lights at least 2 will not
have a useful life of at least 800 hours. [ Given

(0.9) = 0.1348]


https://dl.doubtnut.com/l/_nklSUrREKZgM
https://dl.doubtnut.com/l/_yhWdbO9G1pKa

A1 — (2.9)(0.9)%
B.1— (0.9)(2.9)*
C.1—(2.9)(0.9)"

D.1 — (2.9)(0.9)"

Answer: C

o Watch Video Solution

76. probability that a person will develop immunity
after vaccination is 0.8. If 8 people are given the
vaccine, then the probability that all will develop

immunity is =


https://dl.doubtnut.com/l/_yhWdbO9G1pKa
https://dl.doubtnut.com/l/_KFDA44HTLc8M

A. (0.2)°
B. (0.8)°
C.1

D.8C4(0.2)%(0.8)?

Answer: B

o Watch Video Solution

77. A box contains 15 green and 10 yellow balls. If 10
balls are randomly drawn, one-by-one, with
replacement, then the variance of the number of green

balls d is: 4(2) 6 (3) = (4) 6
alls drawn is: 5% 5


https://dl.doubtnut.com/l/_KFDA44HTLc8M
https://dl.doubtnut.com/l/_IvFLSHdcRBnI

D.4

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_IvFLSHdcRBnI

